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QUESTION 1

What are three functions supported by the Contrail Command user interface? (Choose three.) 

A. enabling VM-to-BMS bridging 

B. onboarding of an IP Fabric 

C. configuring management domains 

D. integrated syslog collector 

E. creating virtual networks 

Correct Answer: CDE 

 

QUESTION 2

You have deployed two data centers that require a Layer 2 stretch between host1 and host2. 
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Referring to the exhibit, what does a Layer 2 stretch require? 

A. a VXLAN tunnel originating on the Super Spine Layer in DC1 to the Super Spine Layer in DC2. 

B. a VXLAN tunnel originating on VTEP1 to VTEP2. 

C. a VXLAN tunnel originating on the Spine Layer in DC1 to the Spine Layer in DC2. 

D. a VPLS WAN connection between data centers. 

Correct Answer: B 

 

QUESTION 3

When using EBGP as the underlay protocol for your IP fabric architecture, which two statements are true? (Choose
two.) 

A. Spine nodes only peer to leaf nodes. 

B. Leaf nodes peer to both spine and leaf nodes. 

C. Leaf nodes only peer to spine nodes. 

D. Spine nodes peer to both leaf and spine nodes. 

Correct Answer: AC 

 

QUESTION 4

What are two methods used to scale an IBGP IP Fabric? (Choose two.) 

A. spanning tree 

B. redundant trunk groups 

C. route reflection 

D. confederations 

Correct Answer: CD 

 

QUESTION 5

A VXLAN has been created between devices leaf1 and leaf3. 
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Referring to the exhibit, which statement is true? 

A. Traffic sent from host1 to host2 will be tagged with VLAN ID 200 when exiting leaf3. 

B. Traffic sent from leaf1 to host2 will he dropped on leaf1. 

C. Traffic sent from host1 to host2 will be tagged with VLAN ID 100 when exiting leaf3. 

D. Traffic sent from leaf1 to host2 will he dropped on leaf3. 

Correct Answer: A 
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